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KERF-I Syntaxen flir SPSS

KERF-I__Syntax_0

RECODE M57_1 M57_2 M57_3 M57_4 M57_5 M57_6 M57_7 M57_8 M57_9 M57_10
M57_11 M57_12 M57_13 M57_14

M57_15 M57_16 M57_17 M57_18 (0=1) (1=0) INTO M57r_1 M57r_2 M57r_3 M57r_4
M57r_5 M57r_6

M57r_7 M57r_8 M57r_9 M57r_10 M57r_11 M57r_12 M57r_13 M57r_14 M57r_15
M57r_16 M57r_17 M57r_18.
EXECUTE.

RECODE M58_1 M58_2 M58_3 M58_4 M58_5 M58_6 M58_7 M58_8 M58_9 M58_10
M58_11 M58_12 M58_13 M58_14

M58_15 M58_16 M58_17 M58_18 (0=1) (1=0) INTO M58r_1 M58r_2 M58r_3 M58r_4
M58r_5 M58r_6

M58r_7 M58r_8 M58r_9 M58r_10 M58r_11 M58r_12 M58r_13 M58r_14 M58r_15
M58r_16 M58r_17 M58r_18.
EXECUTE.

RECODE M59_1 M59_2 M59_3 M59_4 M59_5 M59_6 M59_7 M59_8 M59_9 M59_10
M59_11 M59_12 M59_13 M59_14

M59_15 M59_16 M59_17 M59_18 (0=1) (1=0) INTO M59r_1 M59r_2 M59r_3 M59r_4
M59r_5 M59r_6

M59r_7 M59r_8 M59r_9 M59r_10 M59r_11 M59r_12 M59r_13 M59r_14 M59r_15
M59r_16 M59r_17 M59r_18.
EXECUTE.

RECODE M60_1 M60_2 M60_3 M60_4 M60_5 M60_6 M60_7 M60_8 M60_9 M60_10
M60_11 M60_12 M60_13 M60_14

M60_15 M60_16 M60_17 M60_18 (0=1) (1=0) INTO M60r_1 M60r_2 M60r_3 M60r_4
M60r_5 M60r_6

M60r_7 M60r_8 M60r_9 M60r_10 M60r_11 M60r_12 M60r_13 M60r_14 M60r_15
M60r_16 M60r_17 M60r_18.
EXECUTE.

RECODE M61_1 M61_2 M61_3 M61_4 M61_5M61_6 M61_7 M61_8 M61_9 M61_10
M61_11 M61_12 M61_13 M61_14

M61_15 M61_16 M61_17 M61_18 (0=1) (1=0) INTO M61r_1 M61r_2 M61r_3 M61r_4
M61r_5 M61r_6



M61r_7 M61r_8 M61r_9 M61r_10 M61r_11 M61r_12 M61r_13 M61r_14 M61r_15
M61r_16 M61r_17 M61r_18.
EXECUTE.

RECODE M73_1 M73_2 M73_3 M73_4 M73_5 M73_6 M73_7 M73_8 M73_9 M73_10
M73_11 M73_12 M73_13 M73_14

M73_15 M73_16 M73_17 M73_18 (0=1) (1=0) INTO M73r_1 M73r_2 M73r_3 M73r_4
M73r_5 M73r_6

M73r_7 M73r_8 M73r_9 M73r_10 M73r_11 M73r_12 M73r_13 M73r_14 M73r_15
M73r_16 M73r_17 M73r_18.
EXECUTE.

RECODE M74_1 M74_2 M74_3 M74_4 M74_5 M74_6 M74_7 M74_8 M74_9 M74_10
M74_11 M74_12 M74_13 M74_14

M74_15 M74_16 M74_17 M74_18 (0=1) (1=0) INTO M74r_1 M74r_2 M74r_3 M74r_4
M74r_5 M74r_6

M74r_7 M74r_8 M74r_9 M74r_10 M74r_11 M74r_12 M74r_13 M74r_14 M74r_15
M74r_16 M74r_17 M74r_18.
EXECUTE.

RECODE M75_1 M75_2 M75_3 M75_4 M75_5 M75_6 M75_7 M75_8 M75_9 M75_10
M75_11 M75_12 M75_13 M75_14

M75_15 M75_16 M75_17 M75_18 (0=1) (1=0) INTO M75r_1 M75r_2 M75r_3 M75r_4
M75r_5 M75r_6

M75r_7 M75r_8 M75r_9 M75r_10 M75r_11 M75r_12 M75r_13 M75r_14 M75r_15
M75r_16 M75r_17 M75r_18.
EXECUTE.

COMPUTE M75total_r=M75r_18 + M75r_17 + M75r_16 + M75r_15 + M75r_14 + M75r_13 +
M75r_12 + M75r_11+

M75r_10 + M75r_9 + M75r_8 + M75r_7 + M75r_6 + M75r_5 + M75r_4 + M75r_3 +
M75r_2 + M75r_1.
EXECUTE.

RECODE M75total_r (0=0) (1 thru 18=1) INTO M75r.
EXECUTE.

COMPUTE M74total_r=M74r_18 + M74r_17 + M74r_16 + M74r_15 + M74r_14 + M74r_13 +
M74r_12 + M74r_11+

M74r_10+ M74r_9 + M74r_8 + M74r_7 + M74r_6 + M74r_5 + M74r_4 + M74r_3 +
M74r 2 + M74r_1.
EXECUTE.



RECODE M74total_r (0=0) (1 thru 18=1) INTO M74r.
EXECUTE.

COMPUTE M73total_r=M73r_18 + M73r_17 + M73r_16 + M73r_15 + M73r_14 + M73r_13 +
M73r_12 + M73r_11+

M73r_10+ M73r_ 9+ M73r_ 8 + M73r_7 + M73r_6+ M73r_ 5+ M73r_4 + M73r_3 +
M73r_2 + M73r_1.
EXECUTE.

RECODE M73total_r (0=0) (1 thru 18=1) INTO M73r.
EXECUTE.

COMPUTE M57total_r=M57r_18 + M57r_17 + M57r_16 + M57r_15 + M57r_14 + M57r_13 +
M57r_12 + M57r_11+

M57r_10 + M57r_9 + M57r_8 + M57r_7 + M57r_6 + M57r_5 + M57r_4 + M57r_3 +
M57r_ 2 + M57r_1.
EXECUTE.

RECODE M57total_r (0=0) (1 thru 18=1) INTO M5T7r.
EXECUTE.

COMPUTE M58total_r=M58r_18 + M58r_17 + M58r_16 + M58r_15 + M58r_14 + M58r_13 +
M58r_12 + M58r_11 +

M58r_10 + M58r_9 + M58r_8 + M58r_7 + M58r_6 + M58r_5 + M58r_4 + M58r_3 +
M58r 2 + M58r_1.
EXECUTE.

RECODE M58total_r (0=0) (1 thru 18=1) INTO MS58r.
EXECUTE.

COMPUTE M59total_r=M59r_18 + M59r_17 + M59r_16 + M59r_15 + M59r_14 + M59r_13 +
M59r 12 + M59r_11 +

M59r_10 + M59r_9 + M59r_8 + M59r_7 + M59r_6 + M59r_5 + M59r_4 + M59r_3 +
M59r 2 + M59r_1.
EXECUTE.

RECODE M59total_r (0=0) (1 thru 18=1) INTO M59r.
EXECUTE.

COMPUTE M60total_r=M60r_18 + M60r_17 + M60r_16 + M60r_15 + M60r_14 + M60r_13 +
M60r_12 + M60r_11 +

M60r_10 + M60r_9 + M60r_8 + M60r_7 + M60r_6 + M60r_5 + M60r_4 + M60r_3 +
M60r_2 + M60r_1.



EXECUTE.

RECODE M60total_r (0=0) (1 thru 18=1) INTO M6Or.
EXECUTE.

Global

1. KERF-I_Syntax_1_Rohwertsubskalen_global

COMPUTE PVA=M1 + M2 + M3 + M5.

EXECUTE.

COMPUTE PNVEA=M6 + M55 + M65 + M67+ M4,
EXECUTE.

COMPUTE PPA=M7 + M8 + M9 + M10 + M11 + M12.
EXECUTE.

COMPUTE EN=M51 + M52 + M53 + M54 + M57r + M58r + M56 + M73r + M74r + M75r.
EXECUTE.

COMPUTE PN=M59r + M60r + M62 + M63 + M64.
EXECUTE.

COMPUTE WITP=M33 + M34 + M36 + M37.

EXECUTE.

COMPUTE WITS=M18 + M19 + M22 + M25.

EXECUTE.

COMPUTE PEERE=M39a + M40a + M41a + M42a + M43a.
EXECUTE.

COMPUTE PEERP=M44a + M45a + M46a + M47a + M48a.
EXECUTE.

COMPUTE SEXA=M14 + M15 + M17 + M27 + M28 + M30 + M49a + M50a.
EXECUTE.

2.KERF-I_Syntax_2_Summenwerte_Subskalen_global

RECODE PVA (0=0) (1=2.5) (2=5) (3=7.5) (4=10) INTO SUM_PVA.

EXECUTE.

RECODE PNVEA (0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PNVEA.
EXECUTE.

RECODE PPA (0=0) (1=1.666666666666666) (2=3.333333333333333333) (3=5)
(4=6.6666666666) (5=8.33333333333333) (6=10) INTO SUM_PPA.

EXECUTE.



RECODE EN (0=0) (1=1) (3=3) (5=5) (4=4) (6=6) (7=7) (8=8) (9=9) (10=10) (2=2) INTO SUM_EN.
EXECUTE.

RECODE PN (0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PN.

EXECUTE.

RECODE WITP (0=0) (1=2.5) (2=5) (3=7.5) (4=10) INTO SUM_WITP.

EXECUTE.

RECODE WITS (0=0) (1=2.5) (2=5) (3=7.5) (4=10) INTO SUM_WITS.

EXECUTE.

RECODE PEERE (0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PEERE.

EXECUTE.

RECODE PEERP (0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PEERP.

EXECUTE.

RECODE SEXA (0=0) (1=1.25) (2=2.5) (3=3.75) (4=5) (5=6.25) (6=7.5) (7=8.75) (8=10) INTO
SUM_SEXA.

EXECUTE.

3.KERF-1_Syntax_3_KERF-SUM_global

COMPUTE KERF_SUM=SUM_SEXA + SUM_PPA + SUM_EN + SUM_PNVEA + SUM_PN +
SUM_PEERP + SUM_PEERE + SUM_WITS + SUM_WITP + SUM_PVA.
EXECUTE.

4 KERF-I_Syntax_4_trifft_Skala_zu_global

RECODE PVA (Lowest thru 2=0) (3 thru Highest=1) INTO MULTI_PVA.
EXECUTE.

RECODE PNVEA (Lowest thru 2=0) (3 thru Highest=1) INTO MULTI_PNVEA.
EXECUTE.

RECODE PPA (Lowest thru 3=0) (4 thru Highest=1) INTO MULTI_PPA.
EXECUTE.

RECODE EN (Lowest thru 4=0) (5 thru Highest=1) INTO MULTI_EN.
EXECUTE.

RECODE PN (Lowest thru 2=0) (3 thru Highest=1) INTO MULTI_PN.
EXECUTE.

RECODE WITP (Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_WITP.
EXECUTE.

RECODE WITS (Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_WITS.
EXECUTE.

RECODE PEERE (Lowest thru 3=0) (4 thru Highest=1) INTO MULTI_PEERE.
EXECUTE.

RECODE PEERP (Lowest thru 1=0) (2 thru Highest=1) INTO Multi_PEERP.
EXECUTE.

RECODE SEXA (Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_SEXA.
EXECUTE.



5.KERF-I_Syntax5_KERF_MULTI_global

COMPUTE KERF_MULTI=MULTI_SEXA + MULTI_PPA + MULTI_EN + MULTI_PNVEA +
MULTI_PN + MULTI_PEERP + MULTI_PEERE + MULTI_WITS + MULTI_WITP + MULTI_PVA.
EXECUTE.

Alterssensitiv

1.KERF-I_Syntax_1_.Rohwerte_Subskalen_Age

COMPUTE PVA_1=M1_1+M2_1+M3_1+ M5_1.

EXECUTE.
COMPUTE PVA_2=M1_2 + M2_2 + M3_2 + M5_2.
EXECUTE.

COMPUTE PVA_3=M1_3 + M2_3 + M3_3 + M5_3.
EXECUTE.

COMPUTE PVA_4=M1_4 + M2_4 + M3_4 + M5_4.
EXECUTE.

COMPUTE PVA_5=M1_5 + M2_5 + M3_5 + M5_5.
EXECUTE.

COMPUTE PVA_6=M1_6 + M2_6 + M3_6 + M5_6.
EXECUTE.

COMPUTE PVA_7=M1_7 + M2_7 + M3_7 + M5_7.
EXECUTE.

COMPUTE PVA_8=M1_8 + M2_8 + M3_8 + M5_8.
EXECUTE.

COMPUTE PVA_9=M1_9 + M2_9 + M3_9 + M5_9.
EXECUTE.

COMPUTE PVA_10=M1_10 + M2_10 + M3_10 + M5_10.
EXECUTE.

COMPUTE PVA_11=M1_11 + M2_11+ M3_11+ M5_11.
EXECUTE.

COMPUTE PVA_12=M1_12 + M2_12 + M3_12 + M5_12.
EXECUTE.

COMPUTE PVA_13=M1_13 + M2_13 + M3_13 + M5_13.
EXECUTE.

COMPUTE PVA_14=M1_14 + M2_14 + M3_14 + M5_14.
EXECUTE.

COMPUTE PVA_15=M1_15 + M2_15 + M3_15 + M5_15.
EXECUTE.

COMPUTE PVA_16=M1_16 + M2_16 + M3_16 + M5_16.
EXECUTE.



COMPUTE PVA_17=M1_17 + M2_17 + M3_17 + M5_17.
EXECUTE.
COMPUTE PVA_18=M1_18 + M2_18 + M3_18 + M5_18.
EXECUTE.

COMPUTE PNVEA_1=M4_1+ M6_1 + M55_1 + M65_1 + M67_1.
EXECUTE.

COMPUTE PNVEA_2=M4_2+ M6_2 + M55_2 + M65_2 + M67_2.
EXECUTE.

COMPUTE PNVEA_3=M4_3+ M6_3 + M55_3 + M65_3 + M67_3.
EXECUTE.

COMPUTE PNVEA_4=M4_4+ M6_4 + M55_4 + M65_4 + M67_A4.
EXECUTE.

COMPUTE PNVEA_5=M4_5+ M6_5 + M55_5 + M65_5+ M67_5.
EXECUTE.

COMPUTE PNVEA_6=M4_6+ M6_6 + M55_6 + M65_6 + M67_6.
EXECUTE.

COMPUTE PNVEA_7=M4_7+ M6_7 + M55_7 + M65_7 + M67_7.
EXECUTE.

COMPUTE PNVEA_8=M4_8+ M6_8 + M55_8 + M65_8 + M67_8.
EXECUTE.

COMPUTE PNVEA_9=M4_9+ M6_9 + M55_9 + M65_9 + M67_9.
EXECUTE.

COMPUTE PNVEA_10=M4_10+ M6_10 + M55_10 + M65_10 + M67_10.
EXECUTE.

COMPUTE PNVEA_11=M4_11+ M6_11 + M55_11 + M65_11 + M67_11.
EXECUTE.

COMPUTE PNVEA_12=M4_12+ M6_12 + M55_12 + M65_12 + M67_12.
EXECUTE.

COMPUTE PNVEA_13=M4_13+ M6_13 + M55_13 + M65_13 + M67_13.
EXECUTE.

COMPUTE PNVEA_14=M4_14+ M6_14 + M55_14 + M65_14 + M67_14.
EXECUTE.

COMPUTE PNVEA_15=M4_15+ M6_15 + M55_15 + M65_15 + M67_15.
EXECUTE.

COMPUTE PNVEA_16=M4_16+ M6_16 + M55_16 + M65_16 + M67_16.
EXECUTE.

COMPUTE PNVEA_17=M4_17+ M6_17 + M55_17 + M65_17 + M67_17.
EXECUTE.

COMPUTE PNVEA_18=M4_18+ M6_18 + M55_18 + M65_18 + M67_18.
EXECUTE.

COMPUTE PPA_1=M7_1+M8_1+M9_1+M10_1+M11 1+M12_1.
EXECUTE.
COMPUTE PPA_2=M7 2+ M8_2 +M9_2 + M10_2 + M11_2 + M12_2.
EXECUTE.
COMPUTE PPA_3=M7_3+ M8_3+M9_3 +M10_3 +M11 3+ M12_3.



EXECUTE.

COMPUTE PPA_4=M7_4+ M8_4 +M9_4 + M10_4 + M11_4 + M12_4.
EXECUTE.

COMPUTE PPA_5=M7_5+ M8_5+M9_5+M10_5+M11_5+ M12_5.
EXECUTE.

COMPUTE PPA_6=M7_6+ M8_6+M9_6+M10_6+M11 6+ M12_6.
EXECUTE.

COMPUTE PPA_7=M7_7+ M8_7 + M9_7 + M10_7 + M11_7 + M12_7.
EXECUTE.

COMPUTE PPA_8=M7_8+M8_8+M9_8 + M10_8 + M11_8 + M12_8.
EXECUTE.

COMPUTE PPA_9=M7 9+ M8 _9+M9_9+M10_9+M11 9+ M12 9.
EXECUTE.

COMPUTE PPA_10=M7_10+ M8_10+ M9_10 + M10_10 + M11_10 + M12_10.
EXECUTE.

COMPUTE PPA_11=M7_11+M8_11+M9 11+ M10_11+M11 11+ M12_11.
EXECUTE.

COMPUTE PPA_12=M7_12+ M8_12 + M9_12 + M10_12 + M11_12 + M12_12.
EXECUTE.

COMPUTE PPA_13=M7_13+ M8_13 + M9_13 + M10_13 + M11_13 + M12_13.
EXECUTE.

COMPUTE PPA_14=M7_14+ M8_14 + M9_14 + M10_14 + M11_14 + M12_14.
EXECUTE.

COMPUTE PPA_15=M7_15+ M8_15 + M9_15 + M10_15 + M11_15 + M12_15.
EXECUTE.

COMPUTE PPA_16=M7_16+ M8_16 + M9_16 + M10_16 + M11_16 + M12_16.
EXECUTE.

COMPUTE PPA_17=M7_17+ M8_17 + M9_17 + M10_17 + M11_17 + M12_17.
EXECUTE.

COMPUTE PPA_18=M7_18+ M8_18 + M9_18 + M10_18 + M11_18 + M12_18.
EXECUTE.

COMPUTE EN_1=M51 1+ M52 1+M53 1+ M54 1+ M57r_1+M58r_1+M73r_1+
M74r_1+ M75r_1+ M56_1.

EXECUTE.

COMPUTE EN_2=M51 2+ M52 2+ M53 2+ M54 _2 + M57r_2+ M58r_2 + M73r_2 +
M74r_ 2+ M75r_2 + M56_2.

EXECUTE.

COMPUTE EN_3=M51 3+ M52 3+ M53 3+ M54 3 + M57r_3+ M58r_3 +M73r_3 +
M74r_3+ M75r_3 + M56_3.

EXECUTE.

COMPUTE EN_4=M51_4+ M52_4 + M53 4 + M54_4 + M57r_4+ M58r_4 + M73r_4 +
M74r_4+ M75r_4 + M56_4 .

EXECUTE.

COMPUTE EN_5=M51 5+ M52 5+ M53 5+ M54 5+ M57r_5+ M58r_ 5+ M73r_ 5+
M74r_5+ M75r_5 + M56_5.

EXECUTE.



COMPUTE EN_6=M51 6+ M52 6+ M53 6+ M54 _6 + M57r_6+ M58r_6+ M73r_6+
M74r_6+ M75r_6 + M56_6.

EXECUTE.

COMPUTE EN_7=M51 7+ M52 7 +M53 7+ M54 _7 + M57r_7+ M58r_7 + M73r_7 +
M74r_7+ M75r_7 + M56_7.

EXECUTE.

COMPUTE EN_8=M51 8+ M52 8+ M53 8 + M54_8 + M57r_8+ M58r_8 + M73r_8 +
M74r_8+ M75r_8 + M56_8.

EXECUTE.

COMPUTE EN_9=M51 9+ M52 9+ M53 9+ M54 _9 + M57r_9+ M58r_9 + M73r_9+
M74r_9+ M75r_9 + M56_9.

EXECUTE.

COMPUTE EN_10=M51_10+ M52_10 + M53_10 + M54_10 + M57r_10+ M58r_10 + M73r_10
+ M74r_10+ M75r_10 + M56_10.

EXECUTE.

COMPUTE EN_11=M51_11+ M52_11 + M53_11 + M54_11 + M57r_11+ M58r_11 + M73r_11
+ M74r_11+ M75r_11 + M56_11.

EXECUTE.

COMPUTE EN_12=M51_12+ M52_12 + M53_12 + M54_12 + M57r_12+ M58r_12 + M73r_12
+ M74r_12+ M75r_12 + M56_12.

EXECUTE.

COMPUTE EN_13=M51_13+ M52_13 + M53_13 + M54_13 + M57r_13+ M58r_13 + M73r_13
+ M74r_13+ M75r_13 + M56_13.

EXECUTE.

COMPUTE EN_14=M51_14+ M52_14 + M53_14 + M54_14 + M57r_14+ M58r_14 + M73r_14
+ M74r_14+ M75r_14 + M56_14.

EXECUTE.

COMPUTE EN_15=M51_15+ M52_15 + M53_15 + M54_15 + M57r_15+ M58r_15 + M73r_15
+ M74r_15+ M75r_15 + M56_15.

EXECUTE.

COMPUTE EN_16=M51_16+ M52_16 + M53_16 + M54_16 + M57r_16+ M58r_16 + M73r_16
+ M74r_16+ M75r_16 + M56_16.

EXECUTE.

COMPUTE EN_17=M51_17+ M52_17 + M53_17 + M54 _17 + M57r_17+ M58r_17 +
M73r_17+ M74r_17+ M75r_17 + M56_17.

EXECUTE.

COMPUTE EN_18=M51_18+ M52_18 + M53_18 + M54_18 + M57r_18+ M58r_18 + M73r_18
+ M74r_18+ M75r_18 + M56_18.

EXECUTE.

COMPUTE PN_1=M59r_1+ M60r_1 + M62_1 + M63_1 + M64_1.
EXECUTE.
COMPUTE PN_2=M59r_2+ M60r_2 + M62_2 + M63_2 + M64_2.
EXECUTE.
COMPUTE PN_3=M59r_3+ M60r_3 + M62_3 + M63_3 + M64_3.
EXECUTE.
COMPUTE PN_4=M59r_4+ M60r_4 + M62_4 + M63_4 + M64_4.
EXECUTE.



COMPUTE PN_5=M59r_5+ M60r_5 + M62_5 + M63_5 + M64_5.
EXECUTE.

COMPUTE PN_6=M59r_6+ M60r_6 + M62_6 + M63_6 + M64_6.
EXECUTE.

COMPUTE PN_7=M59r_7+ M60r_7 + M62_7 + M63_7 + M64_7.
EXECUTE.

COMPUTE PN_8=M59r_8+ M60r_8 + M62_8 + M63_8 + M64_8.
EXECUTE.

COMPUTE PN_9=M59r_9+ M60r_9 + M62_9 + M63_9 + M64_9.
EXECUTE.

COMPUTE PN_10=M59r_10+ M60r_10 + M62_10 + M63_10 + M64_10.
EXECUTE.

COMPUTE PN_11=M59r_11+ M60r_11 + M62_11 + M63_11 + M64_11.
EXECUTE.

COMPUTE PN_12=M59r_12+ M60r_12 + M62_12 + M63_12 + M64_12.
EXECUTE.

COMPUTE PN_13=M59r_13+ M60r_13 + M62_13 + M63_13 + M64_13.
EXECUTE.

COMPUTE PN_14=M59r_14+ M60r_14 + M62_14 + M63_14 + M64_14.
EXECUTE.

COMPUTE PN_15=M59r_15+ M60r_15 + M62_15 + M63_15 + M64_15.
EXECUTE.

COMPUTE PN_16=M59r_16+ M60r_16 + M62_16 + M63_16 + M64_16.
EXECUTE.

COMPUTE PN_17=M59r_17+ M60r_17 + M62_17 + M63_17 + M64_17.
EXECUTE.

COMPUTE PN_18=M59r_18+ M60r_18 + M62_18 + M63_18 + M64_18.
EXECUTE.

COMPUTE WITP_1=M33_1+ M34_1+ M36_1 + M37_1.
EXECUTE.

COMPUTE WITP_2=M33_2+ M34_2 + M36_2 + M37_2.
EXECUTE.

COMPUTE WITP_3=M33_3+ M34_3 + M36_3 + M37_3.
EXECUTE.

COMPUTE WITP_4=M33_4+ M34_4 + M36_4 + M37_4.
EXECUTE.

COMPUTE WITP_5=M33_5+ M34_5 + M36_5 + M37_5.
EXECUTE.

COMPUTE WITP_6=M33_6+ M34_6 + M36_6 + M37_6.
EXECUTE.

COMPUTE WITP_7=M33_7+ M34_7 + M36_7 + M37_7.
EXECUTE.

COMPUTE WITP_8=M33_8+ M34_8 + M36_8 + M37_8.
EXECUTE.

COMPUTE WITP_9=M33_9+ M34_9 + M36_9 + M37_9.
EXECUTE.

COMPUTE WITP_10=M33_10+ M34_10 + M36_10 + M37_10.



EXECUTE.
COMPUTE WITP_11=M33_11+ M34_11 + M36_11 + M37_11.
EXECUTE.
COMPUTE WITP_12=M33_12+ M34_12 + M36_12 + M37_12.
EXECUTE.
COMPUTE WITP_13=M33_13+ M34_13 + M36_13 + M37_13.
EXECUTE.
COMPUTE WITP_14=M33_14+ M34_14 + M36_14 + M37_14.
EXECUTE.
COMPUTE WITP_15=M33_15+ M34_15 + M36_15 + M37_15.
EXECUTE.
COMPUTE WITP_16=M33_16+ M34_16 + M36_16 + M37_16.
EXECUTE.
COMPUTE WITP_17=M33_17+ M34_17 + M36_17 + M37_17.
EXECUTE.
COMPUTE WITP_18=M33_18+ M34_18 + M36_18 + M37_18.
EXECUTE.

COMPUTE WITS_1=M18_1+ M19_1+M22_1 + M25_1.
EXECUTE.

COMPUTE WITS_2=M18_2+ M19_2 + M22_2 + M25_2.
EXECUTE.

COMPUTE WITS_3=M18_3+ M19_3 + M22_3 + M25_3.
EXECUTE.

COMPUTE WITS_4=M18_4+ M19_4 + M22_4 + M25_4.
EXECUTE.

COMPUTE WITS_5=M18_5+ M19_5 + M22_5 + M25_5.
EXECUTE.

COMPUTE WITS_6=M18_6+ M19_6 + M22_6 + M25_6.
EXECUTE.

COMPUTE WITS_7=M18_7+ M19_7 + M22_7 + M25_7.
EXECUTE.

COMPUTE WITS_8=M18_8+ M19_8 + M22_8 + M25_8.
EXECUTE.

COMPUTE WITS_9=M18_9+ M19_9 + M22_9 + M25_9.
EXECUTE.

COMPUTE WITS_10=M18_10+ M19_10 + M22_10 + M25_10.
EXECUTE.

COMPUTE WITS_11=M18_11+ M19_11+ M22 11+ M25_11.
EXECUTE.

COMPUTE WITS_12=M18_12+ M19_12 + M22_12 + M25_12.
EXECUTE.

COMPUTE WITS_13=M18_13+ M19_13 + M22_13 + M25_13.
EXECUTE.

COMPUTE WITS_14=M18_14+ M19_14 + M22_14 + M25_14.
EXECUTE.

COMPUTE WITS_15=M18_15+ M19_15 + M22_15 + M25_15.
EXECUTE.



COMPUTE WITS_16=M18_16+ M19_16 + M22_16 + M25_16.
EXECUTE.
COMPUTE WITS_17=M18_17+ M19_17 + M22_17 + M25_17.
EXECUTE.
COMPUTE WITS_18=M18_18+ M19_18 + M22_18 + M25_18.
EXECUTE.

COMPUTE PEERE_1=M39a_1+ M40a_1 + M4la_1+M42a_1+ M43a_1.
EXECUTE.

COMPUTE PEERE_2=M39a_2+ M40a_2 + M4la_2 + M42a_2 + M43a_2.
EXECUTE.

COMPUTE PEERE_3=M39a_3+ M40a_3 + M41la_3 + M42a_3 + M43a_3.
EXECUTE.

COMPUTE PEERE_4=M39a_4+ M40a_4 + M4la_4 + M42a_4 + M43a_4 .
EXECUTE.

COMPUTE PEERE_5=M39a_5+ M40a_5 + M41la_5 + M42a_5 + M43a_5.
EXECUTE.

COMPUTE PEERE_6=M39a_6+ M40a_6 + M4la_6 + M42a_6 + M43a_6.
EXECUTE.

COMPUTE PEERE_7=M39a_7+ M40a_7 + M4la_7 + M42a_7 + M43a_7.
EXECUTE.

COMPUTE PEERE_8=M39a_8+ M40a_8 + M41la_8 + M42a_8 + M43a_8.
EXECUTE.

COMPUTE PEERE_9=M39a_9+ M40a_9 + M41a_9 + M42a_9 + M43a_9.
EXECUTE.

COMPUTE PEERE_10=M39a_10+ M40a_10 + M41a_10 + M42a_10 + M43a_10.
EXECUTE.

COMPUTE PEERE_11=M39a_11+ M40a_11 + M41a_11 + M42a_11 + M43a_11.
EXECUTE.

COMPUTE PEERE_12=M39a_12+ M40a_12 + M41a_12 + M42a_12 + M43a_12.
EXECUTE.

COMPUTE PEERE_13=M39a_13+ M40a_13 + M41a_13 + M42a_13 + M43a_13.
EXECUTE.

COMPUTE PEERE_14=M39a_14+ M40a_14 + M41a_14 + M42a_14 + M43a_14.
EXECUTE.

COMPUTE PEERE_15=M39a_15+ M40a_15 + M41a_15 + M42a_15 + M43a_15.
EXECUTE.

COMPUTE PEERE_16=M39a_16+ M40a_16 + M41a_16 + M42a_16 + M43a_16.
EXECUTE.

COMPUTE PEERE_17=M39a_17+ M40a_17 + M41a_17 + M42a_17 + M43a_17.
EXECUTE.

COMPUTE PEERE_18=M39a_18+ M40a_18 + M41a_18 + M42a_18 + M43a_18.
EXECUTE.

COMPUTE PEERP_1=M44a_1+ M45a_1 + M46a_1 + M47a_1 + M48a_1.
EXECUTE.
COMPUTE PEERP_2=M44a_2+ M45a_2 + M46a_2 + M47a_2 + M48a_2.
EXECUTE.



COMPUTE PEERP_3=M44a_3+ M45a_3 + M46a_3 + M47a_3 + M48a_3.
EXECUTE.

COMPUTE PEERP_4=M44a_4+ M45a_4 + M46a_4 + M47a_4 + M48a_4 .
EXECUTE.

COMPUTE PEERP_5=M44a_5+ M45a_5 + M46a_5 + M47a_5 + M48a_5.
EXECUTE.

COMPUTE PEERP_6=M44a_6+ M45a_6 + M46a_6 + M47a_6 + M48a_6.
EXECUTE.

COMPUTE PEERP_7=M44a_7+ M45a_7 + M46a_7 + M47a_7 + M48a_7.
EXECUTE.

COMPUTE PEERP_8=M44a_8+ M45a_8 + M46a_8 + M47a_8 + M48a_8.
EXECUTE.

COMPUTE PEERP_9=M44a_9+ M45a_9 + M46a_9 + M47a_9 + M48a_9.
EXECUTE.

COMPUTE PEERP_10=M44a_10+ M45a_10 + M46a_10 + M47a_10 + M48a_10.
EXECUTE.

COMPUTE PEERP_11=M44a_11+ M45a_11 + M46a_11 + M47a_11 + M48a_11.
EXECUTE.

COMPUTE PEERP_12=M44a_12+ M45a_12 + M46a_12 + M47a_12 + M48a_12.
EXECUTE.

COMPUTE PEERP_13=M44a_13+ M45a_13 + M46a_13 + M47a_13 + M48a_13.
EXECUTE.

COMPUTE PEERP_14=M44a_14+ M45a_14 + M46a_14 + M47a_14 + M48a_14.
EXECUTE.

COMPUTE PEERP_15=M44a_15+ M45a_15 + M46a_15 + M47a_15 + M48a_15.
EXECUTE.

COMPUTE PEERP_16=M44a_16+ M45a_16 + M46a_16 + M47a_16 + M48a_16.
EXECUTE.

COMPUTE PEERP_17=M44a_17+ M45a_17 + M46a_17 + M47a_17 + M48a_17.
EXECUTE.

COMPUTE PEERP_18=M44a_18+ M45a_18 + M46a_18 + M47a_18 + M48a_18.
EXECUTE.

COMPUTE SEXA_1=M49a_1+ M50a_1+ M14_1+M15_1+M17_1+M27_1+M28_1+
M30_1.

EXECUTE.

COMPUTE SEXA_2=M49a_2+ M50a_2 + M14_2 + M15_2 + M17_2+ M27_2 + M28_2 +
M30_2.

EXECUTE.

COMPUTE SEXA_3=M49a_3+ M50a_3 + M14_3 + M15_3 + M17_3+ M27_3 + M28_3 +
M30_3.

EXECUTE.

COMPUTE SEXA_4=M49a_4+ M50a_4 + M14_4 + M15_4 + M17_4+ M27_4 + M28_4 +
M30_4.

EXECUTE.

COMPUTE SEXA_5=M49a_5+ M50a_5 + M14_5 + M15_5 + M17_5+ M27_5 + M28_5 +
M30_5.

EXECUTE.



COMPUTE SEXA_6=M49a_6+ M50a_6 + M14_6 + M15_6 + M17_6+ M27_6 + M28_6 +
M30_6.

EXECUTE.

COMPUTE SEXA_7=M49a_7+ M50a_7 + M14_7 + M15_7 + M17_7+ M27_7 + M28_7 +
M30_7.

EXECUTE.

COMPUTE SEXA_8=M49a_8+ M50a_8 + M14_8 + M15_8 + M17_8+ M27_8 + M28_8 +
M30_8.

EXECUTE.

COMPUTE SEXA_9=M49a_9+ M50a_9 + M14_9 + M15_9 + M17_9+ M27_9 + M28_9 +
M30_9.

EXECUTE.

COMPUTE SEXA_10=M49a_10+ M50a_10 + M14_10 + M15_10 + M17_10+ M27_10 +
M28_10 + M30_10.

EXECUTE.

COMPUTE SEXA_11=M49a_11+ M50a_11 + M14_11+ M15_11+ M17 11+ M27_11 +
M28 11+ M30_11.

EXECUTE.

COMPUTE SEXA_12=M49a_12+ M50a_12 + M14_12 + M15_12 + M17_12+ M27_12 +
M28 12 + M30_12.

EXECUTE.

COMPUTE SEXA_13=M49a_13+ M50a_13 + M14_13 + M15_13 + M17_13+ M27_13 +
M28 13 + M30_13.

EXECUTE.

COMPUTE SEXA_14=M49a_14+ M50a_14 + M14_14 + M15_14 + M17_14+ M27_14 +
M28_14 + M30_14.

EXECUTE.

COMPUTE SEXA_15=M49a_15+ M50a_15 + M14_15 + M15_15 + M17_15+ M27_15 +
M28_15 + M30_15.

EXECUTE.

COMPUTE SEXA_16=M49a_16+ M50a_16 + M14_16 + M15_16 + M17_16+ M27_16 +
M28_16 + M30_16.

EXECUTE.

COMPUTE SEXA_17=M49a_17+ M50a_17 + M14_17 + M15_17 + M17_17+ M27_17 +
M28 17+ M30_17.

EXECUTE.

COMPUTE SEXA_18=M49a_18+ M50a_18 + M14_18 + M15_18 + M17_18+ M27_18 +
M28 18 + M30_18.

EXECUTE.

2.KERF-I_Syntax_2.Summenwerte_Subskalen_Age

RECODE PVA_1 (0=0) (1=2.5) (2=5) (3=7.5) (4=10) INTO SUM_PVA_1.
EXECUTE.
RECODE PVA_2 (0=0) (1=2.5) (2=5) (3=7.5) (4=10) INTO SUM_PVA_2.



EXECUTE.

RECODE PVA_3 (0=0) (1=2.5) (2=5) (3=7.5) (4=10) INTO SUM_PVA_3.
EXECUTE.

RECODE PVA_4 (0=0) (1=2.5) (2=5) (3=7.5) (4=10) INTO SUM_PVA_4.
EXECUTE.

RECODE PVA_5 (0=0) (1=2.5) (2=5) (3=7.5) (4=10) INTO SUM_PVA_5.
EXECUTE.

RECODE PVA_6 (0=0) (1=2.5) (2=5) (3=7.5) (4=10) INTO SUM_PVA_6.
EXECUTE.

RECODE PVA_7 (0=0) (1=2.5) (2=5) (3=7.5) (4=10) INTO SUM_PVA_7.
EXECUTE.

RECODE PVA_8 (0=0) (1=2.5) (2=5) (3=7.5) (4=10) INTO SUM_PVA_8.
EXECUTE.

RECODE PVA_9 (0=0) (1=2.5) (2=5) (3=7.5) (4=10) INTO SUM_PVA 9.
EXECUTE.

RECODE PVA_10 (0=0) (1=2.5) (2=5) (3=7.5) (4=10) INTO SUM_PVA_10.
EXECUTE.

RECODE PVA_11(0=0) (1=2.5) (2=5) (3=7.5) (4=10) INTO SUM_PVA_11.
EXECUTE.

RECODE PVA_12(0=0) (1=2.5) (2=5) (3=7.5) (4=10) INTO SUM_PVA_12.
EXECUTE.

RECODE PVA_13(0=0) (1=2.5) (2=5) (3=7.5) (4=10) INTO SUM_PVA_13.
EXECUTE.

RECODE PVA_14(0=0) (1=2.5) (2=5) (3=7.5) (4=10) INTO SUM_PVA_14.
EXECUTE.

RECODE PVA_15(0=0) (1=2.5) (2=5) (3=7.5) (4=10) INTO SUM_PVA_15.
EXECUTE.

RECODE PVA_16(0=0) (1=2.5) (2=5) (3=7.5) (4=10) INTO SUM_PVA_16.
EXECUTE.

RECODE PVA_17(0=0) (1=2.5) (2=5) (3=7.5) (4=10) INTO SUM_PVA_17.
EXECUTE.

RECODE PVA_18(0=0) (1=2.5) (2=5) (3=7.5) (4=10) INTO SUM_PVA_18.
EXECUTE.

RECODE PNVEA_1 (0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PNVEA_1.
EXECUTE.
RECODE PNVEA_2 (0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PNVEA_2.
EXECUTE.
RECODE PNVEA_3 (0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PNVEA_3.
EXECUTE.
RECODE PNVEA_4 (0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PNVEA_4.
EXECUTE.
RECODE PNVEA_5 (0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PNVEA_5.
EXECUTE.
RECODE PNVEA_6 (0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PNVEA_6.
EXECUTE.
RECODE PNVEA_7 (0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PNVEA_7.
EXECUTE.



RECODE PNVEA_8 (0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PNVEA_8.
EXECUTE.

RECODE PNVEA_9 (0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PNVEA_9.
EXECUTE.

RECODE PNVEA_10 (0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PNVEA_10.
EXECUTE.

RECODE PNVEA_11(0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PNVEA_11.
EXECUTE.

RECODE PNVEA_12(0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PNVEA_12.
EXECUTE.

RECODE PNVEA_13(0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PNVEA_13.
EXECUTE.

RECODE PNVEA_14(0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PNVEA_14.
EXECUTE.

RECODE PNVEA_15(0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PNVEA_15.
EXECUTE.

RECODE PNVEA_16(0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PNVEA_16.
EXECUTE.

RECODE PNVEA_17(0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PNVEA_17.
EXECUTE.

RECODE PNVEA_18(0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PNVEA_18.
EXECUTE.

RECODE PPA_1 (0=0) (1=1.666666666666666) (2=3.333333333333333333) (3=5)
(4=6.6666666666) (5=8.33333333333333) (6=10) INTO SUM_PPA_1.

EXECUTE.

RECODE PPA_2 (0=0) (1=1.666666666666666) (2=3.333333333333333333) (3=5)
(4=6.6666666666) (5=8.33333333333333) (6=10) INTO SUM_PPA_2.

EXECUTE.

RECODE PPA_3(0=0) (1=1.666666666666666) (2=3.333333333333333333) (3=5)
(4=6.6666666666) (5=8.33333333333333) (6=10) INTO SUM_PPA_3.

EXECUTE.

RECODE PPA_4(0=0) (1=1.666666666666666) (2=3.333333333333333333) (3=5)
(4=6.6666666666) (5=8.33333333333333) (6=10) INTO SUM_PPA_4.

EXECUTE.

RECODE PPA_5 (0=0) (1=1.666666666666666) (2=3.333333333333333333) (3=5)
(4=6.6666666666) (5=8.33333333333333) (6=10) INTO SUM_PPA_S5.

EXECUTE.

RECODE PPA_6 (0=0) (1=1.666666666666666) (2=3.333333333333333333) (3=5)
(4=6.6666666666) (5=8.33333333333333) (6=10) INTO SUM_PPA_6.

EXECUTE.

RECODE PPA_7 (0=0) (1=1.666666666666666) (2=3.333333333333333333) (3=5)
(4=6.6666666666) (5=8.33333333333333) (6=10) INTO SUM_PPA_7.

EXECUTE.

RECODE PPA_8 (0=0) (1=1.666666666666666) (2=3.333333333333333333) (3=5)
(4=6.6666666666) (5=8.33333333333333) (6=10) INTO SUM_PPA_S.

EXECUTE.



RECODE PPA_9(0=0) (1=1.666666666666666) (2=3.333333333333333333) (3=5)
(4=6.6666666666) (5=8.33333333333333) (6=10) INTO SUM_PPA_9.

EXECUTE.

RECODE PPA_10 (0=0) (1=1.666666666666666) (2=3.333333333333333333) (3=5)
(4=6.6666666666) (5=8.33333333333333) (6=10) INTO SUM_PPA_10.

EXECUTE.

RECODE PPA_11(0=0) (1=1.666666666666666) (2=3.333333333333333333) (3=5)
(4=6.6666666666) (5=8.33333333333333) (6=10) INTO SUM_PPA_11.

EXECUTE.

RECODE PPA_12(0=0) (1=1.666666666666666) (2=3.333333333333333333) (3=5)
(4=6.6666666666) (5=8.33333333333333) (6=10) INTO SUM_PPA_12.

EXECUTE.

RECODE PPA_13(0=0) (1=1.666666666666666) (2=3.333333333333333333) (3=5)
(4=6.6666666666) (5=8.33333333333333) (6=10) INTO SUM_PPA_13.

EXECUTE.

RECODE PPA_14(0=0) (1=1.666666666666666) (2=3.333333333333333333) (3=5)
(4=6.6666666666) (5=8.33333333333333) (6=10) INTO SUM_PPA_14.

EXECUTE.

RECODE PPA_15(0=0) (1=1.666666666666666) (2=3.333333333333333333) (3=5)
(4=6.6666666666) (5=8.33333333333333) (6=10) INTO SUM_PPA_15.

EXECUTE.

RECODE PPA_16(0=0) (1=1.666666666666666) (2=3.333333333333333333) (3=5)
(4=6.6666666666) (5=8.33333333333333) (6=10) INTO SUM_PPA_16.

EXECUTE.

RECODE PPA_17(0=0) (1=1.666666666666666) (2=3.333333333333333333) (3=5)
(4=6.6666666666) (5=8.33333333333333) (6=10) INTO SUM_PPA_17.

EXECUTE.

RECODE PPA_18(0=0) (1=1.666666666666666) (2=3.333333333333333333) (3=5)
(4=6.6666666666) (5=8.33333333333333) (6=10) INTO SUM_PPA_18.

EXECUTE.

RECODE EN_1 (0=0) (1=1) (2=2) (3=3) (4=4) (5=5) (6=6) (7=7) (8=8) (9=9) (10=10) INTO
SUM_EN_1.

EXECUTE.

RECODE EN_2 (0=0) (1=1) (2=2) (3=3) (4=4) (5=5) (6=6) (7=7) (8=8) (9=9) (10=10) INTO
SUM_EN_2.

EXECUTE.

RECODE EN_3 (0=0) (1=1) (2=2) (3=3) (4=4) (5=5) (6=6) (7=7) (8=8) (9=9) (10=10) INTO
SUM_EN_3.

EXECUTE.

RECODE EN_4 (0=0) (1=1) (2=2) (3=3) (4=4) (5=5) (6=6) (7=7) (8=8) (9=9) (10=10) INTO
SUM_EN_4.

EXECUTE.

RECODE EN_5 (0=0) (1=1) (2=2) (3=3) (4=4) (5=5) (6=6) (7=7) (8=8) (9=9) (10=10) INTO
SUM_EN_5.

EXECUTE.

RECODE EN_6 (0=0) (1=1) (2=2) (3=3) (4=4) (5=5) (6=6) (7=7) (8=8) (9=9) (10=10) INTO
SUM_EN_6.



EXECUTE.
RECODE EN_7 (0=0) (1=1) (2=2) (3=3) (4=4) (5=5) (6=6) (7=7) (8=8) (9=9) (10=10) INTO
SUM_EN_7.

EXECUTE.

RECODE EN_8 (0=0) (1=1) (2=2) (3=3) (4=4) (5=5) (6=6) (7=7) (8=8) (9=9) (10=10) INTO
SUM_EN_8.

EXECUTE.

RECODE EN_9 (0=0) (1=1) (2=2) (3=3) (4=4) (5=5) (6=6) (7=7) (8=8) (9=9) (10=10) INTO
SUM_EN_9.

EXECUTE.

RECODE EN_10 (0=0) (1=1) (2=2) (3=3) (4=4) (5=5) (6=6) (7=7) (8=8) (9=9) (10=10) INTO
SUM_EN_10.

EXECUTE.

RECODE EN_11 (0=0) (1=1) (2=2) (3=3) (4=4) (5=5) (6=6) (7=7) (8=8) (9=9) (10=10) INTO
SUM_EN_11.

EXECUTE.

RECODE EN_12(0=0) (1=1) (2=2) (3=3) (4=4) (5=5) (6=6) (7=7) (8=8) (9=9) (10=10) INTO
SUM_EN_12.

EXECUTE.

RECODE EN_13(0=0) (1=1) (2=2) (3=3) (4=4) (5=5) (6=6) (7=7) (8=8) (9=9) (10=10) INTO
SUM_EN_13.

EXECUTE.

RECODE EN_14(0=0) (1=1) (2=2) (3=3) (4=4) (5=5) (6=6) (7=7) (8=8) (9=9) (10=10) INTO
SUM_EN_14.

EXECUTE.

RECODE EN_15(0=0) (1=1) (2=2) (3=3) (4=4) (5=5) (6=6) (7=7) (8=8) (9=9) (10=10) INTO
SUM_EN_15.

EXECUTE.

RECODE EN_16(0=0) (1=1) (2=2) (3=3) (4=4) (5=5) (6=6) (7=7) (8=8) (9=9) (10=10) INTO
SUM_EN_16.

EXECUTE.

RECODE EN_17(0=0) (1=1) (2=2) (3=3) (4=4) (5=5) (6=6) (7=7) (8=8) (9=9) (10=10) INTO
SUM_EN_17.

EXECUTE.

RECODE EN_18(0=0) (1=1) (2=2) (3=3) (4=4) (5=5) (6=6) (7=7) (8=8) (9=9) (10=10) INTO
SUM_EN_18.

EXECUTE.

RECODE PN_1 (0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PN_1.
EXECUTE.
RECODE PN_2 (0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PN_2.
EXECUTE.
RECODE PN_3 (0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PN_3.
EXECUTE.
RECODE PN_4 (0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PN_4.
EXECUTE.
RECODE PN_5 (0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PN_5.
EXECUTE.



RECODE PN_6 (0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PN_6.
EXECUTE.

RECODE PN_7 (0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PN_7.
EXECUTE.

RECODE PN_8 (0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PN_8.
EXECUTE.

RECODE PN_9 (0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PN_09.
EXECUTE.

RECODE PN_10 (0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PN_10.
EXECUTE.

RECODE PN_11(0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PN_11.
EXECUTE.

RECODE PN_12(0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PN_12.
EXECUTE.

RECODE PN_13(0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PN_13.
EXECUTE.

RECODE PN_14(0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PN_14.
EXECUTE.

RECODE PN_15(0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PN_15.
EXECUTE.

RECODE PN_16(0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PN_16.
EXECUTE.

RECODE PN_17(0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PN_17.
EXECUTE.

RECODE PN_18(0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PN_18.
EXECUTE.

RECODE WITP_1 (0=0) (1=2.5) (2=5) (3=7.5) (4=10) INTO SUM_WITP_1.
EXECUTE.

RECODE WITP_2 (0=0) (1=2.5) (2=5) (3=7.5) (4=10) INTO SUM_WITP_2.
EXECUTE.

RECODE WITP_3 (0=0) (1=2.5) (2=5) (3=7.5) (4=10) INTO SUM_WITP_3.
EXECUTE.

RECODE WITP_4 (0=0) (1=2.5) (2=5) (3=7.5) (4=10) INTO SUM_WITP_4.
EXECUTE.

RECODE WITP_5 (0=0) (1=2.5) (2=5) (3=7.5) (4=10) INTO SUM_WITP_5.
EXECUTE.

RECODE WITP_6 (0=0) (1=2.5) (2=5) (3=7.5) (4=10) INTO SUM_WITP_6.
EXECUTE.

RECODE WITP_7 (0=0) (1=2.5) (2=5) (3=7.5) (4=10) INTO SUM_WITP_7.
EXECUTE.

RECODE WITP_8 (0=0) (1=2.5) (2=5) (3=7.5) (4=10) INTO SUM_WITP_8.
EXECUTE.

RECODE WITP_9 (0=0) (1=2.5) (2=5) (3=7.5) (4=10) INTO SUM_WITP_9.
EXECUTE.

RECODE WITP_10 (0=0) (1=2.5) (2=5) (3=7.5) (4=10) INTO SUM_WITP_10.
EXECUTE.

RECODE WITP_11(0=0) (1=2.5) (2=5) (3=7.5) (4=10) INTO SUM_WITP_11.



EXECUTE.
RECODE WITP_12(0=0) (1=2.5) (2=5) (3=7.5) (4=10) INTO SUM_WITP_12.
EXECUTE.
RECODE WITP_13(0=0) (1=2.5) (2=5) (3=7.5) (4=10) INTO SUM_WITP_13.
EXECUTE.
RECODE WITP_14(0=0) (1=2.5) (2=5) (3=7.5) (4=10) INTO SUM_WITP_14.
EXECUTE.
RECODE WITP_15(0=0) (1=2.5) (2=5) (3=7.5) (4=10) INTO SUM_WITP_15.
EXECUTE.
RECODE WITP_16(0=0) (1=2.5) (2=5) (3=7.5) (4=10) INTO SUM_WITP_16.
EXECUTE.
RECODE WITP_17(0=0) (1=2.5) (2=5) (3=7.5) (4=10) INTO SUM_WITP_17.
EXECUTE.
RECODE WITP_18(0=0) (1=2.5) (2=5) (3=7.5) (4=10) INTO SUM_WITP_18.
EXECUTE.

RECODE WITS_1 (0=0) (1=2.5) (2=5) (3=7.5) (4=10) INTO SUM_WITS_1.
EXECUTE.

RECODE WITS_2 (0=0) (1=2.5) (2=5) (3=7.5) (4=10) INTO SUM_WITS_2.
EXECUTE.

RECODE WITS_3 (0=0) (1=2.5) (2=5) (3=7.5) (4=10) INTO SUM_WITS_3.
EXECUTE.

RECODE WITS_4 (0=0) (1=2.5) (2=5) (3=7.5) (4=10) INTO SUM_WITS_4.
EXECUTE.

RECODE WITS_5 (0=0) (1=2.5) (2=5) (3=7.5) (4=10) INTO SUM_WITS_5.
EXECUTE.

RECODE WITS_6 (0=0) (1=2.5) (2=5) (3=7.5) (4=10) INTO SUM_WITS_6.
EXECUTE.

RECODE WITS_7 (0=0) (1=2.5) (2=5) (3=7.5) (4=10) INTO SUM_WITS_7.
EXECUTE.

RECODE WITS_8 (0=0) (1=2.5) (2=5) (3=7.5) (4=10) INTO SUM_WITS_8.
EXECUTE.

RECODE WITS_9 (0=0) (1=2.5) (2=5) (3=7.5) (4=10) INTO SUM_WITS_9.
EXECUTE.

RECODE WITS_10 (0=0) (1=2.5) (2=5) (3=7.5) (4=10) INTO SUM_WITS_10.
EXECUTE.

RECODE WITS_11 (0=0) (1=2.5) (2=5) (3=7.5) (4=10) INTO SUM_WITS_11.
EXECUTE.

RECODE WITS_12(0=0) (1=2.5) (2=5) (3=7.5) (4=10) INTO SUM_WITS_12.
EXECUTE.

RECODE WITS_13(0=0) (1=2.5) (2=5) (3=7.5) (4=10) INTO SUM_WITS_13.
EXECUTE.

RECODE WITS_14(0=0) (1=2.5) (2=5) (3=7.5) (4=10) INTO SUM_WITS_14.
EXECUTE.

RECODE WITS_15(0=0) (1=2.5) (2=5) (3=7.5) (4=10) INTO SUM_WITS_15.
EXECUTE.

RECODE WITS_16(0=0) (1=2.5) (2=5) (3=7.5) (4=10) INTO SUM_WITS_16.
EXECUTE.



RECODE WITS_17(0=0) (1=2.5) (2=5) (3=7.5) (4=10) INTO SUM_WITS_17.
EXECUTE.
RECODE WITS_18(0=0) (1=2.5) (2=5) (3=7.5) (4=10) INTO SUM_WITS_18.
EXECUTE.

RECODE PEERE_1 (0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PEERE_1.
EXECUTE.

RECODE PEERE_2 (0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PEERE_2.
EXECUTE.

RECODE PEERE_3 (0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PEERE_3.
EXECUTE.

RECODE PEERE_4 (0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PEERE_4.
EXECUTE.

RECODE PEERE_5 (0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PEERE_5.
EXECUTE.

RECODE PEERE_6 (0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PEERE_6.
EXECUTE.

RECODE PEERE_7 (0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PEERE_7.
EXECUTE.

RECODE PEERE_8 (0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PEERE_8.
EXECUTE.

RECODE PEERE_9 (0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PEERE_9.
EXECUTE.

RECODE PEERE_10 (0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PEERE_10.
EXECUTE.

RECODE PEERE_11(0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PEERE_11.
EXECUTE.

RECODE PEERE_12(0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PEERE_12.
EXECUTE.

RECODE PEERE_13(0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PEERE_13.
EXECUTE.

RECODE PEERE_14(0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PEERE_14.
EXECUTE.

RECODE PEERE_15(0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PEERE_15.
EXECUTE.

RECODE PEERE_16(0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PEERE_16.
EXECUTE.

RECODE PEERE_17(0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PEERE_17.
EXECUTE.

RECODE PEERE_18(0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PEERE_18.
EXECUTE.

RECODE PEERP_1 (0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PEERP_1.
EXECUTE.
RECODE PEERP_2 (0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PEERP_2.
EXECUTE.
RECODE PEERP_3 (0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PEERP_3.



EXECUTE.
RECODE PEERP_4 (0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PEERP_4.
EXECUTE.

RECODE PEERP_5 (0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PEERP_5.
EXECUTE.

RECODE PEERP_6 (0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PEERP_6.
EXECUTE.

RECODE PEERP_7 (0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PEERP_7.
EXECUTE.

RECODE PEERP_8 (0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PEERP_8.
EXECUTE.

RECODE PEERP_9 (0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PEERP_9.
EXECUTE.

RECODE PEERP_10 (0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PEERP_10.
EXECUTE.

RECODE PEERP_11(0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PEERP_11.
EXECUTE.

RECODE PEERP_12(0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PEERP_12.
EXECUTE.

RECODE PEERP_13(0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PEERP_13.
EXECUTE.

RECODE PEERP_14(0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PEERP_14.
EXECUTE.

RECODE PEERP_15(0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PEERP_15.
EXECUTE.

RECODE PEERP_16(0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PEERP_16.
EXECUTE.

RECODE PEERP_17(0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PEERP_17.
EXECUTE.

RECODE PEERP_18(0=0) (1=2) (2=4) (3=6) (4=8) (5=10) INTO SUM_PEERP_18.
EXECUTE.

RECODE SEXA_1 (0=0) (1=1.25) (2=2.5) (3=3.75) (4=5) (5=6.25) (6=7.5) (7=8.75) (8=10) INTO
SUM_SEXA_1.

EXECUTE.

RECODE SEXA_2 (0=0) (1=1.25) (2=2.5) (3=3.75) (4=5) (5=6.25) (6=7.5) (7=8.75) (8=10) INTO
SUM_SEXA_2.

EXECUTE.

RECODE SEXA_3 (0=0) (1=1.25) (2=2.5) (3=3.75) (4=5) (5=6.25) (6=7.5) (7=8.75) (8=10) INTO
SUM_SEXA_3.

EXECUTE.

RECODE SEXA_4 (0=0) (1=1.25) (2=2.5) (3=3.75) (4=5) (5=6.25) (6=7.5) (7=8.75) (8=10) INTO
SUM_SEXA_4.

EXECUTE.

RECODE SEXA_5 (0=0) (1=1.25) (2=2.5) (3=3.75) (4=5) (5=6.25) (6=7.5) (7=8.75) (8=10) INTO
SUM_SEXA_5.

EXECUTE.



RECODE SEXA_6 (0=0) (1=1.25) (2=2.5) (3=3.75) (4=5) (5=6.25) (6=7.5) (7=8.75) (8=10) INTO
SUM_SEXA_B6.

EXECUTE.

RECODE SEXA_7 (0=0) (1=1.25) (2=2.5) (3=3.75) (4=5) (5=6.25) (6=7.5) (7=8.75) (8=10) INTO
SUM_SEXA_7.

EXECUTE.

RECODE SEXA_8 (0=0) (0=0) (1=1.25) (2=2.5) (3=3.75) (4=5) (5=6.25) (6=7.5) (7=8.75) (8=10)
INTO SUM_SEXA_8.

EXECUTE.

RECODE SEXA_9(0=0) (1=1.25) (2=2.5) (3=3.75) (4=5) (5=6.25) (6=7.5) (7=8.75) (8=10) INTO
SUM_SEXA_09.

EXECUTE.

RECODE SEXA_10 (0=0) (1=1.25) (2=2.5) (3=3.75) (4=5) (5=6.25) (6=7.5) (7=8.75) (8=10) INTO
SUM_SEXA_10.

EXECUTE.

RECODE SEXA_11(0=0) (1=1.25) (2=2.5) (3=3.75) (4=5) (5=6.25) (6=7.5) (7=8.75) (8=10) INTO
SUM_SEXA_11.

EXECUTE.

RECODE SEXA_12(0=0) (1=1.25) (2=2.5) (3=3.75) (4=5) (5=6.25) (6=7.5) (7=8.75) (8=10) INTO
SUM_SEXA_12.

EXECUTE.

RECODE SEXA_13(0=0) (1=1.25) (2=2.5) (3=3.75) (4=5) (5=6.25) (6=7.5) (7=8.75) (8=10) INTO
SUM_SEXA_13.

EXECUTE.

RECODE SEXA_14(0=0) (1=1.25) (2=2.5) (3=3.75) (4=5) (5=6.25) (6=7.5) (7=8.75) (8=10) INTO
SUM_SEXA_14.

EXECUTE.

RECODE SEXA_15(0=0) (1=1.25) (2=2.5) (3=3.75) (4=5) (5=6.25) (6=7.5) (7=8.75) (8=10) INTO
SUM_SEXA_15.

EXECUTE.

RECODE SEXA_16(0=0) (1=1.25) (2=2.5) (3=3.75) (4=5) (5=6.25) (6=7.5) (7=8.75) (8=10) INTO
SUM_SEXA_16.

EXECUTE.

RECODE SEXA_17(0=0) (1=1.25) (2=2.5) (3=3.75) (4=5) (5=6.25) (6=7.5) (7=8.75) (8=10) INTO
SUM_SEXA_17.

EXECUTE.

RECODE SEXA_18(0=0) (1=1.25) (2=2.5) (3=3.75) (4=5) (5=6.25) (6=7.5) (7=8.75) (8=10) INTO
SUM_SEXA_18.

EXECUTE.

3.KERF-1_Syntax_3_KERF-SUM_Age

COMPUTE KERF_SUM_1=SUM_SEXA_1+SUM_PPA_1+SUM_EN_1+SUM_PNVEA_1+
SUM_PN_1 +SUM_PEERP_1 + SUM_PEERE_1+ SUM_WITS_1 + SUM_WITP_1 + SUM_PVA_1.



EXECUTE.

COMPUTE KERF_SUM_2=SUM_SEXA_2 + SUM_PPA_2 + SUM_EN_2 + SUM_PNVEA_2 +
SUM_PN_2 + SUM_PEERP_2 + SUM_PEERE_2+ SUM_WITS_2 + SUM_WITP_2 + SUM_PVA_2.
EXECUTE.

COMPUTE KERF_SUM_3=SUM_SEXA_3 + SUM_PPA_3 + SUM_EN_3 + SUM_PNVEA_3 +
SUM_PN_3 + SUM_PEERP_3 + SUM_PEERE_3+ SUM_WITS_3 + SUM_WITP_3 + SUM_PVA_3.
EXECUTE.

COMPUTE KERF_SUM_4=SUM_SEXA_4 + SUM_PPA_4 + SUM_EN_4 + SUM_PNVEA_4 +
SUM_PN_4 + SUM_PEERP_4 + SUM_PEERE_4+ SUM_WITS_4 + SUM_WITP_4 + SUM_PVA_4.
EXECUTE.

COMPUTE KERF_SUM_5=SUM_SEXA_5 + SUM_PPA_5 + SUM_EN_5 + SUM_PNVEA_5 +
SUM_PN_5 + SUM_PEERP_5 + SUM_PEERE_5+ SUM_WITS_5 + SUM_WITP_5 + SUM_PVA_5.
EXECUTE.

COMPUTE KERF_SUM_6=SUM_SEXA_6 + SUM_PPA_6 + SUM_EN_6 + SUM_PNVEA_6 +
SUM_PN_6 + SUM_PEERP_6 + SUM_PEERE_6+ SUM_WITS_6 + SUM_WITP_6 + SUM_PVA_6.
EXECUTE.

COMPUTE KERF_SUM_7=SUM_SEXA_7 + SUM_PPA_7 + SUM_EN_7 + SUM_PNVEA_7 +
SUM_PN_7 + SUM_PEERP_7 + SUM_PEERE_7+ SUM_WITS_7 + SUM_WITP_7 + SUM_PVA_7.
EXECUTE.

COMPUTE KERF_SUM_8=SUM_SEXA_8 + SUM_PPA_8 + SUM_EN_8 + SUM_PNVEA_8 +
SUM_PN_8 + SUM_PEERP_8 + SUM_PEERE_8+ SUM_WITS_8 + SUM_WITP_8 + SUM_PVA_8.
EXECUTE.

COMPUTE KERF_SUM_9=SUM_SEXA_9 + SUM_PPA_9 +SUM_EN_9 + SUM_PNVEA_9 +
SUM_PN_9 + SUM_PEERP_9 + SUM_PEERE_9+ SUM_WITS_9 + SUM_WITP_9 + SUM_PVA_9.
EXECUTE.

COMPUTE KERF_SUM_10=SUM_SEXA_10 + SUM_PPA_10 + SUM_EN_10 + SUM_PNVEA_10
+SUM_PN_10 + SUM_PEERP_10 + SUM_PEERE_10+ SUM_WITS_10 + SUM_WITP_10 +
SUM_PVA_10.

EXECUTE.

COMPUTE KERF_SUM_11=SUM_SEXA_11 + SUM_PPA_11 + SUM_EN_11 + SUM_PNVEA_11
+SUM_PN_11 + SUM_PEERP_11 + SUM_PEERE_11+ SUM_WITS_11 + SUM_WITP_11 +
SUM_PVA_11.

EXECUTE.



COMPUTE KERF_SUM_12=SUM_SEXA_12 + SUM_PPA_12 + SUM_EN_12 + SUM_PNVEA_12
+SUM_PN_12 + SUM_PEERP_12 + SUM_PEERE_12+ SUM_WITS_12 + SUM_WITP_12 +
SUM_PVA_12.

EXECUTE.

COMPUTE KERF_SUM_13=SUM_SEXA_13 + SUM_PPA_13 + SUM_EN_13 + SUM_PNVEA_13
+SUM_PN_13 + SUM_PEERP_13 + SUM_PEERE_13+ SUM_WITS_13 + SUM_WITP_13 +
SUM_PVA_13.

EXECUTE.

COMPUTE KERF_SUM_14=SUM_SEXA_14 + SUM_PPA_14 + SUM_EN_14 + SUM_PNVEA_14
+SUM_PN_14 + SUM_PEERP_14 + SUM_PEERE_14+ SUM_WITS_14 + SUM_WITP_14 +
SUM_PVA_14.

EXECUTE.

COMPUTE KERF_SUM_15=SUM_SEXA_15 + SUM_PPA_15 + SUM_EN_15 + SUM_PNVEA_15
+SUM_PN_15 + SUM_PEERP_15 + SUM_PEERE_15+ SUM_WITS_15 + SUM_WITP_15 +
SUM_PVA_15.

EXECUTE.

COMPUTE KERF_SUM_16=SUM_SEXA_16 + SUM_PPA_16 + SUM_EN_16 + SUM_PNVEA_16
+SUM_PN_16 + SUM_PEERP_16 + SUM_PEERE_16+ SUM_WITS_16 + SUM_WITP_16 +
SUM_PVA_16.

EXECUTE.

COMPUTE KERF_SUM_17=SUM_SEXA_17 + SUM_PPA_17 + SUM_EN_17 + SUM_PNVEA_17
+SUM_PN_17 + SUM_PEERP_17 + SUM_PEERE_17+ SUM_WITS_17 + SUM_WITP_17 +
SUM_PVA_17.

EXECUTE.

COMPUTE KERF_SUM_18=SUM_SEXA_18 + SUM_PPA_18 + SUM_EN_18 + SUM_PNVEA_18
+SUM_PN_18 + SUM_PEERP_18 + SUM_PEERE_18+ SUM_WITS_18 + SUM_WITP_18 +
SUM_PVA_18.

EXECUTE.

4 KERF-I_Syntax_4.trifft_Subskala_zu_Age

RECODE PVA_1 (Lowest thru 2=0) (3 thru Highest=1) INTO MULTI_PVA_1.
EXECUTE.
RECODE PVA_2 (Lowest thru 2=0) (3 thru Highest=1) INTO MULTI_PVA_2.
EXECUTE.
RECODE PVA_3 (Lowest thru 2=0) (3 thru Highest=1) INTO MULTI_PVA_3.



EXECUTE.

RECODE PVA_4 (Lowest thru 2=0) (3 thru Highest=1) INTO MULTI_PVA_4.
EXECUTE.

RECODE PVA_5 (Lowest thru 2=0) (3 thru Highest=1) INTO MULTI_PVA_S5.
EXECUTE.

RECODE PVA_6 (Lowest thru 2=0) (3 thru Highest=1) INTO MULTI_PVA_6.
EXECUTE.

RECODE PVA_7 (Lowest thru 2=0) (3 thru Highest=1) INTO MULTI_PVA_7.
EXECUTE.

RECODE PVA_8 (Lowest thru 2=0) (3 thru Highest=1) INTO MULTI_PVA_S.
EXECUTE.

RECODE PVA_9 (Lowest thru 2=0) (3 thru Highest=1) INTO MULTI_PVA_9.
EXECUTE.

RECODE PVA_10 (Lowest thru 2=0) (3 thru Highest=1) INTO MULTI_PVA_10.
EXECUTE.

RECODE PVA_11 (Lowest thru 2=0) (3 thru Highest=1) INTO MULTI_PVA_11.
EXECUTE.

RECODE PVA_12 (Lowest thru 2=0) (3 thru Highest=1) INTO MULTI_PVA_12.
EXECUTE.

RECODE PVA_13 (Lowest thru 2=0) (3 thru Highest=1) INTO MULTI_PVA_13.
EXECUTE.

RECODE PVA_14 (Lowest thru 2=0) (3 thru Highest=1) INTO MULTI_PVA_14.
EXECUTE.

RECODE PVA_15 (Lowest thru 2=0) (3 thru Highest=1) INTO MULTI_PVA_15.
EXECUTE.

RECODE PVA_16 (Lowest thru 2=0) (3 thru Highest=1) INTO MULTI_PVA_16.
EXECUTE.

RECODE PVA_17 (Lowest thru 2=0) (3 thru Highest=1) INTO MULTI_PVA_17.
EXECUTE.

RECODE PVA_18 (Lowest thru 2=0) (3 thru Highest=1) INTO MULTI_PVA_18.
EXECUTE.

RECODE PNVEA_1 (Lowest thru 2=0) (3 thru Highest=1) INTO MULTI_PNVEA_1.
EXECUTE.
RECODE PNVEA_2 (Lowest thru 2=0) (3 thru Highest=1) INTO MULTI_PNVEA_2.
EXECUTE.
RECODE PNVEA_3 (Lowest thru 2=0) (3 thru Highest=1) INTO MULTI_PNVEA_3.
EXECUTE.
RECODE PNVEA_4 (Lowest thru 2=0) (3 thru Highest=1) INTO MULTI_PNVEA_A4.
EXECUTE.
RECODE PNVEA_5 (Lowest thru 2=0) (3 thru Highest=1) INTO MULTI_PNVEA_5.
EXECUTE.
RECODE PNVEA_6 (Lowest thru 2=0) (3 thru Highest=1) INTO MULTI_PNVEA_6.
EXECUTE.
RECODE PNVEA_7 (Lowest thru 2=0) (3 thru Highest=1) INTO MULTI_PNVEA_7.
EXECUTE.
RECODE PNVEA_8 (Lowest thru 2=0) (3 thru Highest=1) INTO MULTI_PNVEA_8.
EXECUTE.



RECODE PNVEA_9 (Lowest thru 2=0) (3 thru Highest=1) INTO MULTI_PNVEA_9.
EXECUTE.

RECODE PNVEA_10 (Lowest thru 2=0) (3 thru Highest=1) INTO MULTI_PNVEA_10.
EXECUTE.

RECODE PNVEA_11 (Lowest thru 2=0) (3 thru Highest=1) INTO MULTI_PNVEA_11.
EXECUTE.

RECODE PNVEA_12 (Lowest thru 2=0) (3 thru Highest=1) INTO MULTI_PNVEA_12.
EXECUTE.

RECODE PNVEA_13 (Lowest thru 2=0) (3 thru Highest=1) INTO MULTI_PNVEA_13.
EXECUTE.

RECODE PNVEA_14 (Lowest thru 2=0) (3 thru Highest=1) INTO MULTI_PNVEA_14.
EXECUTE.

RECODE PNVEA_15 (Lowest thru 2=0) (3 thru Highest=1) INTO MULTI_PNVEA_15.
EXECUTE.

RECODE PNVEA_16 (Lowest thru 2=0) (3 thru Highest=1) INTO MULTI_PNVEA_16.
EXECUTE.

RECODE PNVEA_17 (Lowest thru 2=0) (3 thru Highest=1) INTO MULTI_PNVEA_17.
EXECUTE.

RECODE PNVEA_18 (Lowest thru 2=0) (3 thru Highest=1) INTO MULTI_PNVEA_18.
EXECUTE.

RECODE PPA_1 (Lowest thru 3=0) (4 thru Highest=1) INTO MULTI_PPA_1.
EXECUTE.

RECODE PPA_2 (Lowest thru 3=0) (4 thru Highest=1)INTO MULTI_PPA_2.
EXECUTE.

RECODE PPA_3 (Lowest thru 3=0) (4 thru Highest=1) INTO MULTI_PPA_3.
EXECUTE.

RECODE PPA_4 (Lowest thru 3=0) (4 thru Highest=1) INTO MULTI_PPA_4.
EXECUTE.

RECODE PPA_5 (Lowest thru 3=0) (4 thru Highest=1) INTO MULTI_PPA_5.
EXECUTE.

RECODE PPA_6 (Lowest thru 3=0) (4 thru Highest=1) INTO MULTI_PPA_6.
EXECUTE.

RECODE PPA_7 (Lowest thru 3=0) (4 thru Highest=1) INTO MULTI_PPA_7.
EXECUTE.

RECODE PPA_8 (Lowest thru 3=0) (4 thru Highest=1) INTO MULTI_PPA_8.
EXECUTE.

RECODE PPA_9 (Lowest thru 3=0) (4 thru Highest=1) INTO MULTI_PPA_9.
EXECUTE.

RECODE PPA_10 (Lowest thru 3=0) (4 thru Highest=1) INTO MULTI_PPA_10.
EXECUTE.

RECODE PPA_11 (Lowest thru 3=0) (4 thru Highest=1) INTO MULTI_PPA_11.
EXECUTE.

RECODE PPA_12 (Lowest thru 3=0) (4 thru Highest=1) INTO MULTI_PPA_12.
EXECUTE.

RECODE PPA_13 (Lowest thru 3=0) (4 thru Highest=1) INTO MULTI_PPA_13.
EXECUTE.

RECODE PPA_14 (Lowest thru 3=0) (4 thru Highest=1) INTO MULTI_PPA_14.



EXECUTE.
RECODE PPA_15 (Lowest thru 3=0) (4 thru Highest=1) INTO MULTI_PPA_15.
EXECUTE.
RECODE PPA_16 (Lowest thru 3=0) (4 thru Highest=1) INTO MULTI_PPA_16.
EXECUTE.
RECODE PPA_17 (Lowest thru 3=0) (4 thru Highest=1) INTO MULTI_PPA_17.
EXECUTE.
RECODE PPA_18(Lowest thru 3=0) (4 thru Highest=1) INTO MULTI_PPA_18.
EXECUTE.

RECODE EN_1 (Lowest thru 4=0) (5 thru Highest=1) INTO MULTI_EN_1.
EXECUTE.

RECODE EN_2 (Lowest thru 4=0) (5 thru Highest=1) INTO MULTI_EN_2.
EXECUTE.

RECODE EN_3(Lowest thru 4=0) (5 thru Highest=1) INTO MULTI_EN_3.
EXECUTE.

RECODE EN_4 (Lowest thru 4=0) (5 thru Highest=1) INTO MULTI_EN_4.
EXECUTE.

RECODE EN_5(Lowest thru 4=0) (5 thru Highest=1) INTO MULTI_EN_5.
EXECUTE.

RECODE EN_6 (Lowest thru 4=0) (5 thru Highest=1) INTO MULTI_EN_6.
EXECUTE.

RECODE EN_7 (Lowest thru 4=0) (5 thru Highest=1)INTO MULTI_EN_7.
EXECUTE.

RECODE EN_8 (Lowest thru 4=0) (5 thru Highest=1) INTO MULTI_EN_8.
EXECUTE.

RECODE EN_9(Lowest thru 4=0) (5 thru Highest=1) INTO MULTI_EN_9.
EXECUTE.

RECODE EN_10 (Lowest thru 4=0) (5 thru Highest=1) INTO MULTI_EN_10.
EXECUTE.

RECODE EN_11 (Lowest thru 4=0) (5 thru Highest=1) INTO MULTI_EN_11.
EXECUTE.

RECODE EN_12 (Lowest thru 4=0) (5 thru Highest=1)INTO MULTI_EN_12.
EXECUTE.

RECODE EN_13 (Lowest thru 4=0) (5 thru Highest=1) INTO MULTI_EN_13.
EXECUTE.

RECODE EN_14(Lowest thru 4=0) (5 thru Highest=1) INTO MULTI_EN_14.
EXECUTE.

RECODE EN_15(Lowest thru 4=0) (5 thru Highest=1) INTO MULTI_EN_15.
EXECUTE.

RECODE EN_16(Lowest thru 4=0) (5 thru Highest=1) INTO MULTI_EN_16.
EXECUTE.

RECODE EN_17 (Lowest thru 4=0) (5 thru Highest=1) INTO MULTI_EN_17.
EXECUTE.

RECODE EN_18 (Lowest thru 4=0) (5 thru Highest=1) INTO MULTI_EN_18.
EXECUTE.

RECODE PN_1 (Lowest thru 2=0) (3 thru Highest=1) INTO MULTI_PN_1.



EXECUTE.

RECODE PN_2 (Lowest thru 2=0) (3 thru Highest=1) INTO MULTI_PN_2.
EXECUTE.

RECODE PN_3 (Lowest thru 2=0) (3 thru Highest=1) INTO MULTI_PN_3.
EXECUTE.

RECODE PN_4 (Lowest thru 2=0) (3 thru Highest=1) INTO MULTI_PN_4.
EXECUTE.

RECODE PN_5 (Lowest thru 2=0) (3 thru Highest=1) INTO MULTI_PN_5.
EXECUTE.

RECODE PN_6 (Lowest thru 2=0) (3 thru Highest=1) INTO MULTI_PN_6.
EXECUTE.

RECODE PN_7 (Lowest thru 2=0) (3 thru Highest=1) INTO MULTI_PN_7.
EXECUTE.

RECODE PN_8 (Lowest thru 2=0) (3 thru Highest=1) INTO MULTI_PN_S8.
EXECUTE.

RECODE PN_9 (Lowest thru 2=0) (3 thru Highest=1) INTO MULTI_PN_9.
EXECUTE.

RECODE PN_10 (Lowest thru 2=0) (3 thru Highest=1) INTO MULTI_PN_10.
EXECUTE.

RECODE PN_11 (Lowest thru 2=0) (3 thru Highest=1) INTO MULTI_PN_11.
EXECUTE.

RECODE PN_12 (Lowest thru 2=0) (3 thru Highest=1) INTO MULTI_PN_12.
EXECUTE.

RECODE PN_13 (Lowest thru 2=0) (3 thru Highest=1) INTO MULTI_PN_13.
EXECUTE.

RECODE PN_14 (Lowest thru 2=0) (3 thru Highest=1) INTO MULTI_PN_14.
EXECUTE.

RECODE PN_15 (Lowest thru 2=0) (3 thru Highest=1) INTO MULTI_PN_15.
EXECUTE.

RECODE PN_16 (Lowest thru 2=0) (3 thru Highest=1) INTO MULTI_PN_16.
EXECUTE.

RECODE PN_17 (Lowest thru 2=0) (3 thru Highest=1) INTO MULTI_PN_17.
EXECUTE.

RECODE PN_18 (Lowest thru 2=0) (3 thru Highest=1) INTO MULTI_PN_18.
EXECUTE.

RECODE WITP_1 (Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_WITP_1.
EXECUTE.
RECODE WITP_2 (Lowest thru 1=0) (2 thru Highest=1)INTO MULTI_WITP_2.
EXECUTE.
RECODE WITP_3(Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_WITP_3.
EXECUTE.
RECODE WITP_4 (Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_WITP_4.
EXECUTE.
RECODE WITP_5(Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_WITP_S5.
EXECUTE.



RECODE WITP_6 (Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_WITP_6.
EXECUTE.

RECODE WITP_7 (Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_WITP_7.
EXECUTE.

RECODE WITP_8 (Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_WITP_8.
EXECUTE.

RECODE WITP_9 (Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_WITP_9.
EXECUTE.

RECODE WITP_10 (Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_WITP_10.
EXECUTE.

RECODE WITP_11 (Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_WITP_11.
EXECUTE.

RECODE WITP_12 (Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_WITP_12.
EXECUTE.

RECODE WITP_13 (Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_WITP_13.
EXECUTE.

RECODE WITP_14 (Lowest thru 1=0) (2 thru Highest=1)INTO MULTI_WITP_14.
EXECUTE.

RECODE WITP_15 (Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_WITP_15.
EXECUTE.

RECODE WITP_16 (Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_WITP_16.
EXECUTE.

RECODE WITP_17 (Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_WITP_17.
EXECUTE.

RECODE WITP_18(Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_WITP_18.
EXECUTE.

RECODE WITS_1 (Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_WITS_1.
EXECUTE.

RECODE WITS_2 (Lowest thru 1=0) (2 thru Highest=1)INTO MULTI_WITS_2.
EXECUTE.

RECODE WITS_3(Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_WITS_3.
EXECUTE.

RECODE WITS_4 (Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_WITS_4.
EXECUTE.

RECODE WITS_5(Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_WITS_5.
EXECUTE.

RECODE WITS_6 (Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_WITS_6.
EXECUTE.

RECODE WITS_7 (Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_WITS_7.
EXECUTE.

RECODE WITS_8 (Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_WITS_8.
EXECUTE.

RECODE WITS_9 (Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_WITS_9.
EXECUTE.

RECODE WITS_10 (Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_WITS_10.
EXECUTE.



RECODE WITS_11 (Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_WITS_11.
EXECUTE.
RECODE WITS_12 (Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_WITS_12.
EXECUTE.
RECODE WITS_13 (Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_WITS_13.
EXECUTE.
RECODE WITS_14 (Lowest thru 1=0) (2 thru Highest=1)INTO MULTI_WITS_14.
EXECUTE.
RECODE WITS_15 (Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_WITS_15.
EXECUTE.
RECODE WITS_16 (Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_WITS_16.
EXECUTE.
RECODE WITS_17 (Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_WITS_17.
EXECUTE.
RECODE WITS_18(Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_WITS_18.
EXECUTE.

RECODE PEERE_1 (Lowest thru 3=0) (4 thru Highest=1) INTO MULTI_PEERE_1.
EXECUTE.

RECODE PEERE_2 (Lowest thru 3=0) (4 thru Highest=1)INTO MULTI_PEERE_2.
EXECUTE.

RECODE PEERE_3 (Lowest thru 3=0) (4 thru Highest=1) INTO MULTI_PEERE_3.
EXECUTE.

RECODE PEERE_4 (Lowest thru 3=0) (4 thru Highest=1) INTO MULTI_PEERE_4.
EXECUTE.

RECODE PEERE_5 (Lowest thru 3=0) (4 thru Highest=1) INTO MULTI_PEERE_S5.
EXECUTE.

RECODE PEERE_6 (Lowest thru 3=0) (4 thru Highest=1) INTO MULTI_PEERE_6.
EXECUTE.

RECODE PEERE_7 (Lowest thru 3=0) (4 thru Highest=1) INTO MULTI_PEERE_7.
EXECUTE.

RECODE PEERE_8 (Lowest thru 3=0) (4 thru Highest=1) INTO MULTI_PEERE_8.
EXECUTE.

RECODE PEERE_9 (Lowest thru 3=0) (4 thru Highest=1) INTO MULTI_PEERE_9.
EXECUTE.

RECODE PEERE_10 (Lowest thru 3=0) (4 thru Highest=1) INTO MULTI_PEERE_10.
EXECUTE.

RECODE PEERE_11 (Lowest thru 3=0) (4 thru Highest=1) INTO MULTI_PEERE_11.
EXECUTE.

RECODE PEERE_12 (Lowest thru 3=0) (4 thru Highest=1) INTO MULTI_PEERE_12.
EXECUTE.

RECODE PEERE_13 (Lowest thru 3=0) (4 thru Highest=1) INTO MULTI_PEERE_13.
EXECUTE.

RECODE PEERE_14 (Lowest thru 3=0) (4 thru Highest=1) INTO MULTI_PEERE_14.
EXECUTE.

RECODE PEERE_15 (Lowest thru 3=0) (4 thru Highest=1) INTO MULTI_PEERE_15.
EXECUTE.



RECODE PEERE_16 (Lowest thru 3=0) (4 thru Highest=1) INTO MULTI_PEERE_16.
EXECUTE.
RECODE PEERE_17 (Lowest thru 3=0) (4 thru Highest=1) INTO MULTI_PEERE_17.
EXECUTE.
RECODE PEERE_18(Lowest thru 3=0) (4 thru Highest=1) INTO MULTI_PEERE_18.
EXECUTE.

RECODE PEERP_1 (Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_PEERP_1.
EXECUTE.

RECODE PEERP_2 (Lowest thru 1=0) (2 thru Highest=1)INTO MULTI_PEERP_2.
EXECUTE.

RECODE PEERP_3(Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_PEERP_3.
EXECUTE.

RECODE PEERP_4 (Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_PEERP_4.
EXECUTE.

RECODE PEERP_5(Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_PEERP_S5.
EXECUTE.

RECODE PEERP_6 (Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_PEERP_6.
EXECUTE.

RECODE PEERP_7 (Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_PEERP_7.
EXECUTE.

RECODE PEERP_8 (Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_PEERP_S.
EXECUTE.

RECODE PEERP_9 (Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_PEERP_9.
EXECUTE.

RECODE PEERP_10 (Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_PEERP_10.
EXECUTE.

RECODE PEERP_11 (Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_PEERP_11.
EXECUTE.

RECODE PEERP_12 (Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_PEERP_12.
EXECUTE.

RECODE PEERP_13 (Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_PEERP_13.
EXECUTE.

RECODE PEERP_14 (Lowest thru 1=0) (2 thru Highest=1)INTO MULTI_PEERP_14.
EXECUTE.

RECODE PEERP_15 (Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_PEERP_15.
EXECUTE.

RECODE PEERP_16 (Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_PEERP_16.
EXECUTE.

RECODE PEERP_17 (Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_PEERP_17.
EXECUTE.

RECODE PEERP_18(Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_PEERP_18.
EXECUTE.

RECODE SEXA_1 (Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_SEXA_1.
EXECUTE.
RECODE SEXA_2 (Lowest thru 1=0) (2 thru Highest=1)INTO MULTI_SEXA_2.
EXECUTE.



RECODE SEXA_3(Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_SEXA_3.
EXECUTE.

RECODE SEXA_4 (Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_SEXA_4.
EXECUTE.

RECODE SEXA_5(Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_SEXA_5.
EXECUTE.

RECODE SEXA_6 (Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_SEXA_6.
EXECUTE.

RECODE SEXA_7 (Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_SEXA_7.
EXECUTE.

RECODE SEXA_8 (Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_SEXA_S8.
EXECUTE.

RECODE SEXA_9 (Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_SEXA_9.
EXECUTE.

RECODE SEXA_10 (Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_SEXA_10.
EXECUTE.

RECODE SEXA_11 (Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_SEXA_11.
EXECUTE.

RECODE SEXA_12 (Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_SEXA_12.
EXECUTE.

RECODE SEXA_13 (Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_SEXA_13.
EXECUTE.

RECODE SEXA_14 (Lowest thru 1=0) (2 thru Highest=1)INTO MULTI_SEXA_14.
EXECUTE.

RECODE SEXA_15 (Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_SEXA_15.
EXECUTE.

RECODE SEXA_16 (Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_SEXA_16.
EXECUTE.

RECODE SEXA_17 (Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_SEXA_17.
EXECUTE.

RECODE SEXA_18(Lowest thru 1=0) (2 thru Highest=1) INTO MULTI_SEXA_18.
EXECUTE.

5.KERF-1_Syntax_5_KERF_MULTI_Age

COMPUTE KERF_MULTI_1=MULTI_SEXA_1 + MULTI_PPA_1 + MULTI_EN_1 + MULT|_PNVEA_1
+ MULTI_PN_1 + MULTI_PEERP_1+ MULTI_PEERE_1+ MULTI_WITS_1 + MULTI_WITP_1+
MULTI_PVA_1.

EXECUTE.

COMPUTE KERF_MULTI_2=MULTI_SEXA_2 + MULTI_PPA_2 + MULTI_EN_2 + MULTI_PNVEA_2
+ MULTI_PN_2 + MULTI_PEERP_2+ MULTI_PEERE_2+ MULTI_WITS_2 + MULTI_WITP_2+
MULTI_PVA_2.

EXECUTE.



COMPUTE KERF_MULTI_3=MULTI_SEXA_3 + MULTI_PPA_3 + MULTI_EN_3 + MULT|_PNVEA_3
+ MULTI_PN_3 + MULTI_PEERP_3+ MULTI_PEERE_3+ MULTI_WITS_3 + MULTI_WITP_3+
MULTI_PVA_3.

EXECUTE.

COMPUTE KERF_MULTI_4=MULTI_SEXA_4 + MULTI_PPA_4 + MULTI_EN_4 + MULT|_PNVEA_4
+ MULTI_PN_4 + MULTI_PEERP_4+ MULTI_PEERE_4+ MULTI_WITS_4 + MULTI_WITP_4+
MULTI_PVA_4.

EXECUTE.

COMPUTE KERF_MULTI_5=MULTI_SEXA_5 + MULTI_PPA_5 + MULTI_EN_5 + MULT|_PNVEA_5
+ MULTI_PN_5 + MULTI_PEERP_5+ MULTI_PEERE_5+ MULTI_WITS_5 + MULTI_WITP_5+
MULTI_PVA_5.

EXECUTE.

COMPUTE KERF_MULTI_6=MULTI_SEXA_6 + MULTI_PPA_6 + MULTI_EN_6 + MULTI_PNVEA_6
+ MULTI_PN_6 + MULTI_PEERP_6+ MULTI_PEERE_6+ MULTI_WITS_6 + MULTI_WITP_6+
MULTI_PVA_6.

EXECUTE.

COMPUTE KERF_MULTI_7=MULTI_SEXA_7 + MULTI_PPA_7 + MULTI_EN_7 + MULT|_PNVEA_7
+ MULTI_PN_7 + MULTI_PEERP_7+ MULTI_PEERE_7+ MULTI_WITS_7 + MULTI_WITP_7+
MULTI_PVA_7.

EXECUTE.

COMPUTE KERF_MULTI_8=MULTI_SEXA_8 + MULTI_PPA_8 + MULTI_EN_8 + MULT|_PNVEA_8
+ MULTI_PN_8 + MULTI_PEERP_8+ MULTI_PEERE_8+ MULTI_WITS_8 + MULTI_WITP_8+
MULTI_PVA_8.

EXECUTE.

COMPUTE KERF_MULTI_9=MULTI_SEXA_9 + MULTI_PPA_9 + MULTI_EN_9 + MULTI_PNVEA_9
+ MULTI_PN_9 + MULTI_PEERP_9+ MULTI_PEERE_9+ MULTI_WITS_9 + MULTI_WITP_9+
MULTI_PVA_9.

EXECUTE.

COMPUTE KERF_MULTI_10=MULTI_SEXA_10 + MULTI_PPA_10 + MULTI_EN_10 +
MULTI_PNVEA_10 + MULTI_PN_10 + MULTI_PEERP_10+ MULTI_PEERE_10+ MULTI_WITS_10
+ MULTI_WITP_10+ MULTI_PVA_10.

EXECUTE.

COMPUTE KERF_MULTI_11=MULTI_SEXA_11 + MULTI_PPA_11 + MULTI_EN_11 +
MULTI_PNVEA_11 + MULTI_PN_11 + MULTI_PEERP_11+ MULTI_PEERE_11+ MULTI_WITS_11
+ MULTI_WITP_11+ MULTI_PVA_11.

EXECUTE.



COMPUTE KERF_MULTI_12=MULTI_SEXA_12 + MULTI_PPA_12 + MULTI_EN_12 +
MULTI_PNVEA_12 + MULTI_PN_12 + MULTI_PEERP_12+ MULTI_PEERE_12+ MULTI_WITS_12
+ MULTI_WITP_12+ MULTI_PVA_12.

EXECUTE.

COMPUTE KERF_MULTI_13=MULTI_SEXA_13 + MULTI_PPA_13 + MULTI_EN_13 +
MULTI_PNVEA_13 + MULTI_PN_13 + MULTI_PEERP_13+ MULTI_PEERE_13+ MULTI_WITS_13
+ MULTI_WITP_13+ MULTI_PVA_13.

EXECUTE.

COMPUTE KERF_MULTI_14=MULTI_SEXA_14 + MULTI_PPA_14 + MULTI_EN_14 +
MULTI_PNVEA_14 + MULT|_PN_14 + MULTI_PEERP_14+ MULTI_PEERE_14+ MULTI_WITS_14
+ MULTI_WITP_14+ MULTI_PVA_14.

EXECUTE.

COMPUTE KERF_MULTI_15=MULTI_SEXA_15 + MULTI_PPA_15 + MULTI_EN_15 +
MULTI_PNVEA_15 + MULTI_PN_15 + MULTI_PEERP_15+ MULTI_PEERE_15+ MULTI_WITS_15
+ MULTI_WITP_15+ MULTI_PVA_15.

EXECUTE.

COMPUTE KERF_MULTI_16=MULTI_SEXA_16 + MULTI_PPA_16 + MULTI_EN_16 +
MULTI_PNVEA_16 + MULTI_PN_16 + MULTI_PEERP_16+ MULTI_PEERE_16+ MULTI_WITS_16
+ MULTI_WITP_16+ MULTI_PVA_16.

EXECUTE.

COMPUTE KERF_MULTI_17=MULTI_SEXA_17 + MULTI_PPA_17 + MULTI_EN_17 +
MULTI_PNVEA_17 + MULTI_PN_17 + MULTI_PEERP_17+ MULTI_PEERE_17+ MULTI_WITS_17
+ MULTI_WITP_17+ MULTI_PVA_17.

EXECUTE.

COMPUTE KERF_MULTI_18=MULTI_SEXA_18 + MULTI_PPA_18 + MULTI_EN_18 +
MULTI_PNVEA_18 + MULTI_PN_18 + MULT|_PEERP_18+ MULTI_PEERE_18+ MULTI_WITS_18
+ MULTI_WITP_18+ MULTI_PVA_18.

EXECUTE.





